Welcome to Year & Maths
The lesson will begirv ab |:15am

g%







The/an/sweﬁt& 1340



o064

Read this number
What is the value of the digit, 57
Muliplyy the number by 10,
What is 7 less?



A Bar Chart to Show the Points Scored in PE

Taam 1 Team 2 Team 3 T 4

How many points did team 3 get? 13
What is the difference in points between team 1 and team 47 5
How many points did team 2 and 3 get altogether? 23

What is the difference in points between team 2 and team 37 3

What information is missing from the bar chart? ﬂ__.@lb@l]g @m_] @@@I}D @}X{ﬁg



| There are 25 children in a class.
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children in the class who walk to 9
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school each day.
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EE One of the days i rained,

§ . which day do- yow think it was?
5

5 Wednesday as less

e, People walked to
school



7a. Which 3 distances combined make

3
4 km?

one thousand
mefres




Sentence Stems:
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What L&ﬂ\epﬂvneiﬂ\o}ﬂ\w shape/?
A) 16cmy C) 3em

=== B) dem D) 12em.



Explainy what the ‘perimeter’ of a shape is.
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(shorter sides). The perimeter is [2em.
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Dorimetor: Scm Perimeter: 16cm Perimeter: |4com



The astronauts are talking aboub the perimeters of these shapes
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How would I find the perimeter of

this shape?

8 9 10 11 12 13 14
The shape is drawn ona lcm x 1cm
grid. 7

56 16,17

4 18

3 1,2 20, 21 19
22




5a. Circle the perimeter of the rectangle.

16cm

12cm

(szem )| [(stem )
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\S T wil knowr hour to the
@6‘;6 ) . find, perimeter of a
Plenary

6a. Ralph says,

-
If a shape has a

perimeter of 31cm,
then it cannot be a
rectangle. y
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Is Ralph correct? Prove .



